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PART |: FUNCHONS wse f () =8x—12, m(x) = X*+2X, and j(x) =|3—X| to answer the questions below.

1. f(-3)= 2. j(10) = 3. m(-1) = 4. Find x when f(x)

PART II: FUNCHONS fROM GRAPRS  wse the tabie below to evaluate the follo wing:

X ftx) glx) | hix) 5. f(-3)= 6.9(-2)=
-4 15 -3 5

-3 10 1 3

-2 7 -3 1 _

6 5 1 7. Find x when f(x) = -3

PART Il GRAPhING FUNCLONS Graph the function using a table. PART V: 1s it a function?

LS

8. f(x): double the input and then add 1 9.

Function: f(x)=

=-2
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PART V: RRddiNG GRAPKS wise the graph of f{(x) to the right to evaluate. 101
8 -
10.f(-4) = G
2 \
11. Find x when fx) =10 ~ hiiiii PR N A
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PART VI: DOMdIN. RANEL. ENd BBHAVIOR. o
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PART VI SLOPR
14-15: Find the slope of the line that 16. Find the slope of the line given the graph.
passes through the two points. i
14. (2,-3) and (-1, -3) 15. (1, 2) and (5, -2) AN

\: Slope (m) =
i K ,
-0 E \ 0y
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PART Il GRAPhING LINES bY 4abLeS
17.Which ordered pair is a solution of 2y - 3x =-13
a.(-3,2) b. (-2, 3) c. (5,0) d.(3,-2)
18-19. Graph using tables. Don’t forget to solve for yfirst.
18.y - 3x = -1 1o} 19. -6x - 3y = -18 I;;
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